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QUESTION 1

Which statement about syntax items is TRUE? 

A. They must have a restriction list. 

B. They have a maximum length of 1 byte. 

C. The value must come from the input data. 

D. They cannot be used as variable initiators. 

Correct Answer: A 

 

QUESTION 2

When using WebSphere Transformation Extender to integrate with an e-mail provider, which two of the following are
TRUE statements? 

A. The e-mail adapter\\'s -ATTACH command only supports a single attachment. 

B. It is mandatory to enter a subject when using the e-mail adapter to send a message. 

C. The Importer Wizard must be used to create the type tree for the WebSphere e-mail adapter. 

D. Use the e-mail adapter\\'s Receipt command (-RCPT or -RECEIPT) to request a return receipt. 

Correct Answer: AD 

 

 

QUESTION 3

The image here shows the group view for an input type tree that defines a purchase order (PO) file: 

The component rule on the Record component: 
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A. selects the last PO record. 

B. identifies the end of the PO file. 

C. counts the number of PO records. 

D. identifies the beginning of a new PO. 

Correct Answer: D 

 

QUESTION 4

The example here shows three records of a file. Each record is terminated with a character. The file is not limited to a
specific number of records. 

CMS Business Systems S30093467390212200815AN 

CMS Business Systems S40073617390628200817NN 

CMS Business Systems S40073617390628200817NN 

The type tree has been constructed with two groups named File and Record. 

Which of the following options BEST defines the format and component syntax properties for the two groups? 

A. The File component is defined as Format = Explicit and Component Syntax = Fixed; the Record component is
defined as Format = Explicit and Component Syntax = Fixed 

B. The File component is defined as Format = Explicit and Component Syntax = None; the Record component is
defined as Format = Explicit and Component Syntax = None 

C. The File component is defined as Format = Implicit and Component Syntax = None; the Record component is
defined as Format = Explicit and Component Syntax = Fixed. 

D. The File component is defined as Format = Implicit and Component Syntax = Fixed; the Record component is
defined as Format = Implicit and Component Syntax = None 

Correct Answer: C 

 

 

QUESTION 5

A developer is loading the following records into a database: 

The database record has four fields; each field will contain one letter from the file above. The update key in the .MDQ
file is set to the first field of the table. The UPDATE flag is not set on the card but OnFailure->Rollback is set.the table.
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The UPDATE flag is not set on the card but OnFailure->Rollback is set. Using the adapter trace shown below, 

how many record(s) will be inserted into the database? 

A. 0 

B. 1 

C. 2 

D. 3 

E. 4 

Correct Answer: C 

 

 

QUESTION 6

Using the map debugger, what will happen when the breakpoint is encountered in the image shown here and Step-In is
selected for a reference map? 
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The debugger will: 

A. go to the beginning of the next rule to be run. 

B. go to the end of the rule and will not show resultant object values. 

C. show the values for each HRRecord and each rule within the reference functional map. 

D. show the values for each HRRecord object, not each rule within the reference functional map. 

Correct Answer: C 

 

 

QUESTION 7

Instead of creating a file, the Sink adapter can be used for temporary output. What are three advantages of the using
the Sink adapter? 

A. Faster map performance. 

B. Reduced memory usage. 

C. Reduced disk space usage. 

D. Reduced number of output cards. 

E. Reduced file resource conflicts when running multiple instances of the map. 

Correct Answer: ACE 

 

QUESTION 8

A map executes with the completion message: 

Input type contains errors 

Which of the following statements is always TRUE? 
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A. The map terminated without executing any mapping rules. 

B. An audit log was generated with information about the data in error. 

C. Input validation ended at the point where the invalid data was encountered. 

D. The RESTART attribute was applied to one or more of the data objects in the input type tree. 

E. Mapping rules were executed up to the point where the invalid data was encountered in the input. 

Correct Answer: D 

 

QUESTION 9

A Referenced Map is a map that: 

A. resides in another map source. 

B. is known to run with any XML schema. 

C. is distributed with the product as a sample. 

D. uses indirect references for a source or target. 

Correct Answer: A 

 

 

QUESTION 10

In addition to the adapters, what WebSphere Transformation Extender component would be needed in a production
environment? 

A. Design Studio 

B. Transformation Engine 

C. Integration Flow Designer 

D. Database Interface Designer 

Correct Answer: B 

 

QUESTION 11

The structure of the following file has been partially defined in a type tree: 

~Smith~Robert~Programmer 

~Doe~John~Manager 
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The properties of the types have not been completely defined. 

Which of the following options defines the properties for the use of the tilde (~) character in the sample file? 

A. Define ~ as a floating component of the Record type. 

B. Define ~ character as a prefix delimiter of the File type. 

C. Define ~ character as a prefix delimiter of the Record type. 

D. Define ~ character as the initiator and terminator of LastName and FirstName types and initiator of Title type. 

Correct Answer: C 

 

 

QUESTION 12

One way to modify a type tree to increase performance is to: A. map the unused elements that are not used to =NONE. 

B. change the numeric type elements to alphanumeric type elements. 

C. move the unused elements into a reserved category called \\'NonUsed\\'. 

D. combine any contiguous elements that will not be mapped into a large blob. 

Correct Answer: D 
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